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A seducer, where he can prevent - 2OV XN YIRT INDN

Overview

"X maintains that we cannot derive that the father can prevent the marriage by 01X,
from 705N, since by nnon the 7ndn can prevent the marriage, however by 011X the
DIXn cannot prevent the marriage from taking place.

Mmoo responds to possible difficulty:
SV 2NN DI IMYIN OWY N5 1D99N)

And even if he seduced her for the sake of marriage, nevertheless he can divorce
her.

Summary
It is considered that the 71non can be 20vn even if MW X oW 0%, since he can divorce

her.

Thinking it over

It is apparent from this moon that if MW X owY 0% she is considered married (for
MO0 writes WA X177 7137), however previously® mooin wrote that aw» 70 170K
3 712778 A1RT 1% "1 M R. How can we resolve this apparent contradiction?*

!'If the inom had in mind to be w7pn her with this 7183, the father can still be 20vn (for she is not a N7312 yet), but the
7nan cannot be 210¥n, the same should be by 01X that even though the 01¥» cannot be 25vn, nevertheless the father can
be 20vn. This contradicts the logic of »ax.

2 The 1inon can dissolve the marriage through a divorce (therefore the father can be 20vn), however the Dix» cannot
divorce his wife as the 770 writes (03,23 [R¥N] 2°127) 11> 73 ANPWH 317 KD AWK 700 X9, therefore the father cannot
be 2ovn.

3 ®oxvwo? A"7 2w Moo (on this TAY).

4 See vop NIX DWW TAW.
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